
P
A

R
T

N
U

M
B

E
R

:LF
-

1
8

0

Installation Instruction

Performance Intake system

SAAB NG9-5 V6 2010-2011
This installation instruction is based on an install on a MY2011 SAAB 9-5 V6.



Description

Parts List

P A R T N U M B E R L F  - 1 8 0

This instruction shows how to replace the OEM Intake system with 
do88 performance Intake system.

At this type of installation we always recommend that you have 
mechanical experience and knowledge about safety during work on 
vehicles.

1pc BMC performance air filter

P .  2

1pc do88 Heat shield black

1pc do88 Intake hose

1pc M10 nylon lock nut

1pc M10 washer 20x2mm

1pc M10 washer 35x3mm

1pc M10x40mm hex screw

1,6m rubber sealing

2pcs zip tie 4.8x370mm 

1pc 30mm air filter for S.A.I replacement



Remove 2x plastic clips.
Remove the air filter box from the car by lifting the box 
upwards and towards the engine.

Step 2

P A R T N U M B E R L F  - 1 8 0

Remove 2x T20 screws and remove the AMM from the 
air filter box.

Step 3Step 1
Remove 2x hose clamp and remove 1x T25 and remove 
the inlet pipe from the car.
Disconnect the cable connector located on the AMM.
Press on both sides on the plastic coupler and remove 
the plastic hose from the filter box.

P .  3



Remove the OEM hose clamp with a small flat head screwdriver and use a heat gun 
or a lighter, gently heat up the plastic pipe to separate the hose and the plastic 
coupler.

Press on both sides on the plastic coupler and remove the secondary air injection 
hose from the car.

Step 5Step 4

P A R T N U M B E R L F  - 1 8 0

P .  4



Install the included air filter on the 
coupler and tighten the hose clamp.

Step 6

Install the included rubber sealing as shown on picture. 

Step 8

Install the plastic coupler with air filter 
back in the car.

Step 7

P A R T N U M B E R L F  - 1 8 0

P .  5



Install the do88 heat shield with the included M10 bolt and M10 washers.
Use the 35mm washer at the bottom of the bracket and the 20mm washer at the top 
of the bracket.  as shown on picture.
Use 1x included zip tie and install around  the ac condenser pipe and into the heat 
shield and 1x included zip tie around vacuum module and the ac condenser pipe.

Step 9

If do88 performance intake system is 
installed with OEM turbo inlet pipe:
Install the AMM directly on the OEM 
plastic pipe without the included do88 
hose.

Re-install all other parts in reverse 
order.

Step 10
If do88 performance intake system is 
installed with do88 performance intake 
pipe:
Install the AMM directly with the 
included do88 hose.

Re-install all other parts in reverse 
order.

Step 11

P A R T N U M B E R L F  - 1 8 0

P .  6



Thank you for purchasing another do88 product.

Please check our website frequently for new product releases.

If you have any questions or concerns about this product please do not 

hesitate to contact us: do88.se/contact

http://do88.se/contact

	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6
	Slide Number 7

